Efficiency vs P,

~ 0.2

o

€ 0.18F

Py -

20.16F

o

g F

20.14

[J]
0.12

0.1

0.08F
0.06F
0.04F
0.02F

o J..\.G_
= I
S 1L
i 2 Al R s R L
hldl |+
0.950

107 1 10 prT (Ge\})o3

—=— DQM_TT _original_time2
—e— DQM_TT_modified_time2
—— DQM_TT_modifiedINIT_time2

- 02
e £ Lo i
o S 1 SRS S
e
30-16F
(8] L
£0.14F
[J] o
0.12k
0.1
0.08F{-Hlf | 1

.......................................

0.06)
0.04
0.02

. . —
A
B T P

v

b
(=]

=3 -2 -1 0 1 2 3
TP n

Ratio
o [
|© § E N

Efficiency vs ¢

s 0.2
n A

H | |
o Of FTITF F Tl
= iy ]
© . ] H
x 11' T v,;q; + 0[_ T
0 1T+
1H4 14 4 At b b
H: 1 + [+14
09 £S
=3 -2 -1 1 2 3
3




	Contents
	Page 1


